1:2,500 dEAMNFERK

II—GE 40 —4

40-1

40-3

50-1

L
T KX &
]
5|
X
® B R’
B | M I
= =
5] H
A 372 = & =&
CI—_“‘ @R W
@ 25.62 x # =&
LAERUE
— 2235@MH o 42.3 ZRrAUEE
X R
. v 35.6  BOLELS
[cl ol msomss B 25.73 AFEAS
o 12.3 %:26’&%1,&;%\‘
I s BEmEZ 15.8  BMeBAECL?
. g & =
BrReEs
o) T A B oo &
AN T ) B M
A w2 L = ]
S T L = 2 ®
&) s & B |3 s &
W HAEEE T % B W
X X & TE AT - a3 >
Y OB OB - ® B
&) BEREMR YT N 925" M|
@) RIBOXH - WS Q IR 37 45 (IR EER)
H i i A SR 48 (BHEER)
ul] % B o WO R
+ FURL #H & 4 2 B &
& T DRANES ©) A
x ¥ % i & S
@ WHE - RER AR & #
® DNEE - AR i B o &
® ® B o3 17 =
= B @ 1 =
g iR T @ K fr & A A
®@ A ®E A m b A
@ B e S BAO - mEn
% x ®= & dy B -8
o3 T 15 R " oE B i
e z & W B /B
= Bk 715 cm e T
ﬁ ZAKR— A ~ 0
xf i & e - =
=R OB B ® A % @
,,,,, S —_— % K B
,,,,,,,, B %
—~—— & bEl
-------- ® 4
o ~ Geman T BB O #hiE
T @ - Rt 0k - @R B
L= ] 75vbk—A
ffffffffff | FE== aunun
_— — 5 - HEE
L % ®
:,_"J:#j OB T
—l— HEOTENZL
R & 36 15 = RUEZR
F=0E amommes
7% o & o | = = = = IZ ﬁ ﬁ
T Llib AT s@E | BoE R
e ———— # #® R
[ETTTTTITTITITITE. o b %
o @ -# R
—— ®FR R EESHORR
——— LLEEOXFR —_—— X EEHMA
—_—— B EARR -— -— % B 8
I o Q Q
A 2 4B B =
I e] Q
v o 20D 1h 1h .
" R o
v o |1l 11
e - ~ v v
= 1@ Z #h [T\ FAth
& 4
- “ = = S
/;'f:'*/ I E Lot
o |7V ol
Y 2 m| M | T Tleun
Y A TR S B
x m LI 2
. .

171 =1
it it
I I GE 40 4 .Ioo
Lo b ! . N
(@] 1] (@] 19} (@]
N N NS - 3
+ + + + +
+106.5 +106.5
EEros
4;9
+106.0 — 4+106.0
B ] St
+105.5 — — 1 41055
+105.0 +105.0
(@] 1] (@] 19} (@]
N N NS - 3
+ + + + +
TR 22 E B B (1) A 16 £ B ERI6ERARE BB R OEIR T EEME . HRALRCHS - 2500 [CONEARIE. ELHBRROFRLUHEEE CRLERED stE#E Jb S M ™
F Rk 26 F (S 1IE Bk 16 F & A Rk 16 F£ 12 B #|& ¥ = R 2 m 5 HERBEFEALTELELOTHD ERES) F22 AL H1395)
(2) 24 E 4 B B CORBE. THROEECETRARENICEELEDDTHSD 0 0 1o 200 1 300 400 500m [CONBHRE. ELHBEREOHELRITELLOTHD ERE#BE X2/

B 26 & 11 B RHAEE
Bk 26 & 12 A AR

BHS&ES) F26

VRN

#3278

EEREIFHRUEERL

&% %

B = R

XEAE

BRERFBAILAMILEE

MBILRRLTH D ER
BEAEREEGEHERN®RCHIS
RELEFAA—-bIRBER
CHOEERFPRREOTHER

o >t K

EEROBBE2A— M

Il—GE 40 —4

B FA A= FJILEC




